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MATHEMATICS

%_(«/;=6\l(x+y)5 son %=

L ¥24.99 3 tiescdn
g (A) 4.999
(A) v (B) 4.899
@ %y (C) 5.001
@& z-y (D) 4.897
@ <
x |3x—5| <2 esoon
2. & 8UNS cIRYTOY, drew 3 Tsbeob iy exs ]
SReTOI0R,? 3
(A) fix)=x—4x+5 in[1, 3] B) 1sx<
(B) fix)=x2-x in[0,1] 3
(€©) fix)=|x|in[-2,2] 9
(D) fw)=[x] in[25,27) o leess
3w = - 62+ 9+ 10 s @) -1sxs3
q}%maeosm
(A) (~0,1) U3, ) cRchuy ®wo X' 3 dIow
(B) (=0, 1] U [3, ) HogssRectdenray 3 g9t dotnn k 3
<) [1,3] 238303
(D) (—CO,-].]U{3. CD)
XL 14273 helsl6l. 7
4.  word AweEd Shud  wemnsd P(X) | k-1| 3k| k| 3k [ 3k2| k2| K24k
4 R.0YR TOEY, a{\%méd & hud " Then the value of k is )
Wom 14 R.20e. rdeen $us dxecor s A 1
BOBeRIOS F,H0%0 k.
(A) 1043 cm¥sec (23. B.20¢/%) (B) -2
(B) 14+/3 cm¥/sec (3. B.20¢/%) (®) %—
(C) 42 em?sec (3. 3.20¢/2) 1
(D) 14 cm?/sec (23. 3.20¢/3.) (D) 10
Space For Rough Work
A-1 Mathematics




- ——— —

MATHEMATICS

lf%\f;=ﬂ(x+y)s-‘h°“%=
A =
¥
B) x+y
©) x-y

o I
X

Rolle’s theorem is not applicable in
which one of the following cases ?

(A) fix)=x2-4x+5 in[1,3]
(B) fx)=x*-x in[0,1]
© fx)=|x]in[-22]

(D) fx)=[x] in[25,2.7)

The interval in which the function
f(x) = x* - 6x2 + 9x + 10 is increasing

in

The value of +/24.99 is
(A) 4.999
(B) 4.899
(C) 5.001
(D) 4.897

If|3x - 5| <2 then

(A) —]SJt.'S.I
3
7
B) 1sx<-—
(B) *%3
©) ls:s%

D) -1 st-g-

A random variable ‘X’ has

A) (=0, 1)U 3, ) . o Tt i
B) (~o0, 1]U[3, ®) following probability distribution :
© [1,3) X e s SRS S Y
(D) (=0, -1]u [3, ) P(X) | k=1| 3k| k | 3k| 3k?| k2| k®+k
Then the value of k is
The sides of an equilateral triangle are 1
increasing at the rate of 4 cm/sec. The (A) -
rate at which its area is increasing, :
when the side is 14 cm (B) -2
(A) 1043 cm¥sec oy 2
(B) 1443 cm¥sec 7
(C) 42 cm?/sec ®) &
(D) 14 cm?sec 10
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Ly Fico 3 T 2 Ro FWID

B AN O TRRCE R RCER. S Mds Rk res
Pudneondd, P(A) = 0.2, P(B) = 0.6 S5 Ah 2. 5456, T, 8¢ towd
RoaoRy LORTS DRy LD D
S P(A[B) = 0.5 #n3S P(A'B) = Roal, 2ot o0 SRETS. ¢ Xoad,odd
3 AR moa% [CTlewn
@ = BormReoRFoTN
2
A s
(B) 2 (A) 5
3 I
M =
1
© 3 i
Cle
D) l 10
3 3
(D) s
11. 100 ﬂmo&ﬂdzd:_;t BRI U 0w
9. X' it nom> OFG DdoE od. eod SRIIRA T T e
n(A) = 50, n(B) = 60, n(AnB) = 20
T,Q08ricon = 6, p DI PX=2) = 12, sworin (A'NB) =
(A) 40
PX=3)=5e¢c8 P= (B) 20
s (©) 90
A tas 10
(A) T (D)
(B) 1561- 12. f:R>RIQ fx) =Vx? —Tx+12
: VSR BR) 3,209, R4n 1(x) 3§63
(C) -2- (A) (-, 3] U [4, x)
(B) (-,3]U (4, )
T o ©) (-»,3]A[4, )
i D) (.4
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10. A man speaks truth 2 out of 3 times.
If A and B are two events of a sample He picks one of the natural numbers in
space S such that P(A) = 0.2, P(B) = 0.6 the set S = {1, 2, 3, 4, 5, 6, 7} and
reports that it is even. The probability
and P(A[B) = 0.5 then P(A'[B) = that it is actually even is
2
3 A) =
Ay == 5
10 1
@B -
) 5
B) = s
3 (©) 10
3
1 (D) =
C sy
©) > 5
D) 1 11. If U is the universal set with 100
3 elements; A and B are two sets such
that n(A) = 50, n(B) = 60, n(ANB) =
20 thenn (A'NB") =
If *X* has a binomial distribution with (A) 40
parameters n = 6, p and P(X =2) = 12, 820
P(X=3)=5then P = 1)
(D) 10
e
12
¥ 12. The domain of the functionf: R —» R
® 5 defined by f(x) = Vx2 - Tx +12 is
1 (A) (-o0,3]U [4, o)
L
2 (B)  (-=,3]v 4, x)
s © (-=,3]1N[4,)
T ® (.4
Space For Rough Work
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13. cos x = | sin x | IAETTHT WRRT, 17 x-5 y+1 .z+4 Sihat s
TOTHTRY (52 SR
3x — dy — z + 5 = 0 FDIONY I3
(A) x=nnt % ,neZ OFO BRI
9
n 1
B =2nn+ — .neZ A) o™ —mm—
(B) x=2nn 7 °he (A) ( 64]
(C) x=nn+(-1)" L2 ,NeZ (B) sin‘i(LJ
4 364
K n
(D) x=Qo+lnt 7 .neZ © cos‘l( 3}
4. 3 20° — sec 20° = B
J3 cosec sec (D) sin (2\/_}
(A) 2
B2 18 1,2, 1) dombanoed
©) 4 . (1,2, 1) 20 0
®) 1 "2“=Y;2=z;3 0¥ Gessrt oo
9030
18 P@m): 2" <n! *adsigt :{,@r{mm e3¢
08 A 2,3 245
} Poogs orsor o8y (A) o (B) &
A) 2
2
B) 3 © 3-3@ ® 2
<€) 4
(B3 19. XY-30309), A(2,3,-5) 1N
16. 2x-y+z+3=0zD308 (1,3, 4) A i, 10
VOTDAVOT HFT LOWTITT VOO 3 29
A) (1,4.3) (A) 2:1 so308m0N0
B) (0,-4.-7) () 352 W
© a.2.-3) (C) 5:3 03080
(D) ('_3! Sv 2) #
(D) 5:3 wemsen
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13. If cos x = | sin x | then, the general 17. Acute angle between the line
solution is x=5 y+1 z+4
s : = and the plane
x B i
(A) x=nntz,nez 3x-4y-z+5=0is
9
n = L
(B) x=2n:rriz,nez (A) cos [@J
n 1
=nn+ (-1)" — ,neZ B) sin”'| ==
(C)xn:rt(l)4ne (B) [Jﬁ,
n i)
D) x=@n+1)nxt — ,neZ G cos“l[
4 o 2\13)
I (DR 0%
14. /3 cosec 20° — sec 20° = (). [2J1_3 N
(A) 2
(B) 3 18. The distance of the point (1, 2, 1) from
© 4 the line x‘1=y“2=z;3is
243
i1 S0
15. If P(n) : 2" < n! then the smallest
positive integer for which P(n) is true, (B) &
is 3
(A) 2
@ 2
(B) 3 3
C) 4 20
©) o) 2
(D) § 3
16. Foot of the perpendicular drawn 19. XY-plane divides the line joining the
- from the point (1, 3, 4) to the plane points A(2, 3, -5) and B(-1, -2, -3) in
k-y+z+3=0is the ratio
(A) (-1,4,3) (A) 2:1 internally
B) (0,-4,-7) (B) 3:2externally
© (.23 (C) 5:3 internally
(D) (-3.5,2) (D) 5:3 externally
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20. I ROWHRG NI VTEARD

(A) 4x + 5y 2 20,

x<6, x,y20
(B) 4x + 5y > 20,
j x26, x,y=20
(C) 4x + 5y <20,
x<6, x,y20

(D) 4x + 5y < 20,
x26, x,y20

2. y =
R0EFTIT TedF oz

A) 1

(B) 2
© 3

(D) 4

»x
m‘n
3x + 10y < 30,
3x + 10y < 30,

3x + 10y < 30,

3x + 10y < 30,

C l eC,-rx + C3eC X =803

22. |a|=16,|b|=4eon

23.

24.

25.

R0BrveE 3 wHE) b v S Soesy
2“ Fid -
E—Bﬂd%. b 3 et a 3 Jexw -2

4
soon| a|=

(A) 4
(B) 3
© 2
D) 1
T+2] +k ‘21 +§ + 3k
ROBNRY BROOTS A3l
VOLTNTE DFIRNT BOSH)

w Lrisk

VIZxBR+3.8p = (4) 0

s ® [3.5.7]

(B) 8 - 2

©) 16 © 2M3.8.¢)

i ®) 3[@,8,7]
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20. The shaded region in the figure is the - =>. 2x
solution set of the inequations 23. Ifthe angle between a and b is ?and
B -
(tl‘l\: the projection of a in the direction of
Ay bis—2, then|a |=
(0.3)
(A) 4
(B) 3
>X
0 (5.0 \(6.0) Ms (C)" 2
D) 1
(A) 4x + S5y 2 20, 3x + 10y < 30,
< .
il b : 24. A unit vector perpendicular to the
(B) 4x + 5y = 20, 3x + 10y < 30, = A AA
x26, x,y20 plane containing the vectors i +2j + k
Tl Al O e ¥ AN
(C) 4x+5y<20, 3x+ 10y <30, and 21+ + 3Kk is
xS0, % y20 2 R
(D) 4x+5y<20, 3x+ 10y <30, s R
x26, x,y20 . e AU
&
21. The order of the differential equation ﬁ
y=Ce5™ +Cpe" s etk
C
A) 1 e S
(B) 2 o
€)3 (D) _J_\ﬁ
(D) 4
g - iy e i Sy S S A A
22. Ifl3|=16,lb|=4then, 25. [a+2b—c,a—b,a-b-*0]—
> > A) 0
\IZxBR+|2-BP = o
(A) 4 ®) [a.b.¢
(8)-8 (C) 2[a.b,¢]
(©) 16 -
(D) 64 (D) 3[a,b,c]
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3 2
26. fcor'xdx= 29, f [x2] dx =
iy 0
(A) 3n (A) 5=+v2=3
(B) 0 B) 5+2-3
(3 2" © 5-v2+43
(
0) T e g
27. f e |
'J;+x;fhx 30' J‘ lif—dx:
(A) 2log(Vx +1)+C AL
(B) %m"v’;w (A) %—1
(©) tan'Yx+C ®) X4
(D) 2tan'Vx+C .
T
©) 2
2x-1 1
28. - 1
j(x—lXx+2Xx—3)dx e ® 3
|x-1|+Blog|x+2|+Clog|x-3|+K
smont A, B, C rish e308,:0@n
31 a s Prsox? +x + 1 =0 3Q0e80T
A) '?1%:21 SROTTINGS 0 + B2 S000Td
(A) 1
o
(B) E&E:g —1+i\[§
(B) >
© T2
613 © =1-i3
ik 2
,3!2 (D) e
Space For Rough Work
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3 2
26. fmrlxdx= 29. j[xZ]m=
-3 0
(A) 3= A 5-2-48
B) 0 B) 5+v2-3
©) 6n ©) 5-V2+4
D) 3 D) 5=~
1
1 1+x
27. dy= 30. —— dx=
J-J;.'.x,‘f; -{ 1-x
(A) 2log(Vx +1)+C Ry - Ty
2
S
) tan Jx +C o %“
-1
(©) tan'vx+C ol R
(D) 2tan'Vx+C f
(D) 3
28. f - ol dr = A log
(x—=D(x+2)x-3)
|x—1|+Blog|x+2|+Clog|x—3|+K, 31. If o and B are roots of the equation
then A, B, C are respectively x2+x+1=0thena2+|32is
-11 -1
oo B A) 1
(A)_ 632
1514 -1+i3
—— (B)
(B) 6’3’5 2
1 -11 :
et A e
(€} o5, © 215
-1 =11
(D) T35 D) -1
Space For Rough Work
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32. 1,2,3,4,5,6, 7 oofned geoossrs '
Sericte 20> X Tone S0 KKess, | 6 [ sin e =
WOOE Tt TRLBOT 4 eaodng (A) 4 1-3 cos3x ul _1-2 sin 3x t
oa3 030 3 3
{A) 432 2xcos3x > 2sin 3x +C
(B) 436 9 27
(€) 450 (B) x> cos3x % x2 sin3x -
(D) 454 3 3
33 (2 + v - (32 - v sy dFON 2xc;s3x_25in3x+c
ROPESOLTON thadedns IENE Ko, 5
(A) 0 {C.) “ x> cos3x 2 x? sin3x %
B) 13 3 3
(©) 26 2xcos3x  2sin3x +C
(D) 50 9 27
' X cosdx  xZsindx
34, 200D xRS B epod oS TEY (D) - el ol
9 smon ot Sty D I 5 :
2xcos3x  2sin3x +C
DRI 9 27
A 3°
(g) 3?0 37. y?=x ToSooh sy 22 +y2 = 2
e HEE IBOS  X-ogn ed w3
TOCNT QAerrY BT TRINTEY,
35. Xo¢ Seaodeomd ATeF3E erideonn W E- 3
AR PeTEnvRy  evotLERend, o 4 2
Geadoto Pogs X-e8teo0n (B) 3 =
CUOLLRRES doedy -4
(A) 45° ey 2%
(B) 9()° 3 4
© 120° "
(D) 135° 4 3
Space For Rough Work
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32. The number of 4 digit numbers without
repetition that can be formed using the | 36 f”si" 3xdv =
digits 1, 2, 3, 4, 5, 6, 7 in which each 3 S
number has two odd digits and two (h) “‘3’53"—-’ ";“3‘”
‘(::;n ilgl;s . 2xcos3x 2sin3x +C
(B) 436 : 2 727
(C) 450 (B) x” cos3x 4 x“sin3x
(D) 454 3 3
2xcos3x  2sin3x
33. The number of terms in the expansion T +C
of (2 + y)® - @ - y)* after 3 3
simplification is (C) L Xaoomdx ey 3 +
) 0 Wkl 5
B) 13 2xcos3x  2sin3x +C
© 26 9 27
(D) 50 ©) - x c;:slr 5 x> s;n 35
34. The third term of a G.P. is 9. The 2xc0s3x  2sindx
product of its first five terms is B T NG |
A) 3° |
® 3 37. The area of the region above X-axis
(© 3% included between the parabola y? = x
(D) 312 and the circle x> + y2 = 2x in square
units is
35. A line cuts off equal intercepts on the @A) x 3
co-ordinate axes. The angle made by 4 2
this line with the positive direction of 3 x
X-axis is (B) 5 4
5
3 4
C) 120° & 3
(D) 135° ©r23
Space For Rough Work
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38. Y-o8,y =cosx SRy = sinx; 41, OePrR3 M +25y2=2253
0 <x < 2 003 esgarteoncs Soue "”"‘emi’sm
DREEFY (A) 3
(A) v2-1 Sq. units (23. RIrieH) ® 2
5
(B) /2 Sq. units (4. SRI7LH) AR
(C) Y2+ 1 Sq. units (3. IRIrEH) ‘;
(D) 2- /2 Sq. units (8. IRIADH) ®) 16
n
39. (&x+3y)dy =y dx (y > 0) u=603 42. Y (2r-1)=x ewn
TETOLIT RFOT LT[IFIY) r=|
1 g LR n’
i m |t s o — =
(A) eY nsow |y J;z x? x?
s %3 1
LIS AN
S a ( _) =
¢ 1
1 &
1, B
3 ©) 1
O — D) 4
y
43. “om vy wudgnd dFFHorsS.”
40. .oz [BTeadt cXRYSe WO (x, ) 8 eoded STTegE vy
3Q U IFFET WY ¢ 2o (A) o, S U3 isd
JjerBEnd  rorowsA) (1, 1) VT FFOPOY, .
DOTHAT Twes T Beesd, o (B) dox esm:m on:swqmt:
38, Beadodd Xoedorewy) DRZ oS,
(A) 2logx=y*-1 ©) v SREE CUIFTishd
(©) 2logy=x*-1 D) o, WY evdFned
(D) 2logx=y2+1 SN oIS,
Space For Rough Work
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38. The area of the region bounded by 41. The eccentricity of the ellipse
Y-axis, y = cos x and y = sin x; Ox2 + 25y2 =225 is
% 4
0<sx< EIS (A) =
(A) +2-1Sq. units ® 3
(B) 2 Sq. units :
(C) +2+1 Sq. units ©. 7
(D) 2- /2 8q. units o >
16
39. The integrating factor of the :
differential equaﬁon (2.x g 3y2) 42 (2r * l) = x then
dy=ydx(y>0)is E
1 : ORI G =3
A) e im | —+—+—+..... +—|=
()el Ry ® TR, Tl -
By = 1
y? (A) 5
1 1
€)' = =
© - (B) :
1 (-1
) gk
: ) 43. The negation of the statement “All”
40. The equation of the curve passing continuous functions are
through the point (1, 1) such that the differentiable.”
slope of the tangent at any point (x, y) (A) All continuous functions are not
is equal to the product of its co- differentiable.
ordinates is : k
(B) Some continuous functions are
(A) 2logx=y*-1 differentiable.
(B) 2logy=x2+1 (C) Some continuous functions are
. not differentiable.
© 2lgy=x-1 (D) All differentiable functions are
(D) 2logx=y2+1 continuous. :
Space For Rough Work
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4. 100 TI0BRY DR8I WA 47, [x] Sowom NOR roros LIFTI,
QdoFede eRgsomN S0 DD 4 T30 worie f(x) =x — [x] —cos x
SNGT, & T3003nd SnFne

@ » e &mon f'[£)=
(A) 251600 2
(B) 256100 A) 0
(©) 266000 ® 1
(D) 261600 ) =
(D) AZZQI0Y,
45. ‘EQUATIONS’ oow InE e8oneon
o0E> egTne) vah INAGNT. ¢ 52"13“ 40
i & x
©BOnvY wom 3T TR wWomd 4. fx)=qe™ -1 NG
3, 0T Fodecdodo k-2 5 x=0
- x =0 3Q e mmonk =
8
(A) e 3
(A) 3
4
(B) ry ®) 9
A 5
© = 1
9 )
(©) >
o 2 2
9 RS
3
3x+1 2x-1 x+2 ¥+
46. |5x-1 3x+2 x+1 | 49.  f(x) =sin"! [1+4x] soor £(0) =
7x-2 3x+1 4x-1
DFONTRR TRBCOR 40308 (A) 2log2
' (B) log?2
(A)- 0 ) 2log2
® 2 e
©) -10 D) 4log2
(D) 6 5
Space For Rough Work
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44. Mean and standard deviation of 100 47. If [x] represents the greatest integer
items are 50 and 4 respectively. The function and f(x) = x — [x] — cos x then
sum of all squares of the items is f,[;;)*
(A) 251600 2
(B) 256100 (A) 0O
(C) 266000 (B) 1
(D) 261600 © 2
(D) does not exist
45. Two letters are chosen from the letters
of the word ‘EQUATIONS’. The sindx 0
probability that one is vowel and the 48. iffx)={e**-1 e is
other is consonant is
k=2 ;  x=0
(A) g. continuous atx =0, thenk =
3
(A) =
(B) 4 2
9 9
Q)=
9 1
& -
o > £
9 D) )
3
46. The constant term in the expansion of
- x4+l
3x+1 2x-1 x+2 49. If f(x) = sin™! [2 JI:I,thenf'((})=
5x-1 3x+2 x+1|is 1+4
Tx-2 3x+1 4x-1 (A) 2log2
(A) 0 (B) log2
®) 2 ©
C) -1
© 4 D) 4log2
(D) 6 : 5
Space For Rough Work
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P a2y 52. P % Q nsd Aedasdrod zawort
e o SRLFNONGS, PQ — QP sowscd
2000
(A) 2a
(A) BRI IR ¥
B) 1
(B) Rswont nd
€ 0
(©) 203, SnyF
(D) 4
(D) Sssnor nd,d
A (h 7 =1 1
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If P and Q are symmetric matrices of
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Jea3 2 -1 58. On the set of positive rationals, a
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COMMON ENTRANCE TEST-2019

DATE SUBJECT TIME QUESTION BOOKLET
’ VERSION
CODE SERIALNUMBER

29-04-2019 |MATHEMATICS| 02.30 PM TO 03.50 PM

A-1

Total Maximum Time for Maximum Total No. of ; Mention Your
Duration Answering Marks Questions CET Number

80 Minutes 70 Minutes 60 60

DOs:
%

2.
3.

4.
S.

Candidate must verify that the CET number and Name printed on the OMR Answer Sheet is tallying with the CET Number
and Name printed on the Admission Ticket. Discrepancy if any, report to invigilator.

This question booklet is issued to you by the invigilator after the 2* bell i.e., after 2.30 pm.

Candidate must verify that the Version Code of this Question Booklet is tallying with the Version code on the OMR
Answer Sheet. Discrepancy if any, report to invigilator.

The Version Code and Serial Number of this question booklet should be entered on the Nominal Roll without any mistakes.
Compulsorily sign at the bottom portion of the OMR answer sheet in the space provided.

DONTSs:

2,

THE TIMING AND MARKS PRINTED ON THE OMR ANSWER SHEET SHOULD NOT BE DAMAGED /
MUTILATED/ SPOILED.

The 3" Bell rings at 2.40 pm, till then;

e Do not remove the seal present on the right hand side of this question booklet.

# Do not look inside this question booklet or start answering on the OMR answer sheet.

IMPORTANT INSTRUCTIONS TO CANDIDATES

This question booklet contains 60 questions and each question will have one statement and four distracters. (Four different

options / responses. )

After the 3™ Bell is rung at 2.40 pm, remove the paper scal on the right hand side of this question booklet and check that

this booklet does not have any unprinted or torn or missing pages or items etc., if so, get it replaced immedaitely by

complete test booklet by showing it to Room Invigilator. Read each item and start answering on the OMR answer sheet.

During the subsequent 70 minutes :

s Read each question (item) carefully.

= Choose one correct answer from out of the four available responses (options / responses) given under each question /
item. In case you feel that there is more than one correct response, mark the response which you consider the best. In
any case, choose only one response for each item.

e Completely darken / shade the relevant circle with a blue or black ink ballpoint pen against the question number
on the OMR answer sheet.

peelevinaf V) 3 8,50MW WRONG METHODS

CORRECT METHOD ®O® OO0 ®00®
DOOP®®O® ®O®OC®

Please note that even a minute unintended ink dot on the OMR answer sheet will also be recognized and recorded by the
scanner. Therefore, avoid multiple markings of any kind on the OMR answer sheet.

Use the space provided on each page of the question booklet for Rough Work. Do not use the OMR answer sheet for the
same.

After the last bell is rung at 3,50 pm, stop marking on the OMR answer sheet and affix your left hand thumb
impression on the OMR answer sheet as per the instructions.

Hand over the OMR answer sheet to the room invigilator as it is.

After separating the top sheet (KEA Copy), the invigilator will return the bottom sheet replica (candidate’s copy) to you
to carry home for self-evaluation.

Preserve the replica of the OMR answer sheet for a minimum period of ONE year.

NOTE : In case of any discrepancy between English and Kannada Versions, the English version will be taken as final.

A-1

24



Date :

COMMON ENTRANCE TEST - 2019%
AMSWER XEYZ - MATHS

maqm'm&uupg
o

=
(=]

=
-

)
W

(=
L3

|
r| =
oA

[
S|

-
L

b
(=2

N
™

L]
[N ]

1=
(™)

|
LI
|

"~
»n

N
-]

-]

W e
H oo

w
L]

Lk
L

Sl
e

| b
) n

L)
1

”
L' -]
T 1 i . -
Hhuhuwﬁhlwub-h-p-.blut--hHn—n.:-mun-uuwn-n-#.aouw|u-—nnmu.nz

[}
[--]

|
0

L
=

-
o

Lol
b

-
w

-
L3

o
wn

-
(-

-
et

-
o

o
(=]

o
]

s
w
N = o] L N W N F‘thl Lad | Narf b GO A | a2 | B = |

m
[ %]

n
w

an
[

(L)
wn

wn
L=

i
~1

wn
o

w
L -4

&
=

1, ¢ - Indicates One SRACE MARE Awarded foxr the Question Number.
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